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2. While solving a problem if an individual reaches the
solution all of asudden, we say that he has learnt by

(a) Trial and error (b) Insight
(c) Imitation (d) Observation
3, Which of the following is most highlighted by the National
Curriculum Framework position paper on examination
reforms ?
(a) Open book exams
(b) Emphasis on test performance
() Flexiblesitting arrangement while testing
(d) Continuous assessment
4. Which of the following is the correct sequence ?
(@) Attention, retention, production and motivation
(b) Motivation, attention, retention and production
(¢) Production, motivation, attention and retention
(d) Attention, retention, motivation and production
5, Which of the following is not involved in the mechanism
by while children develop their knowledge th rough social
dialogue ?
(a) Scaffolding
(&) Zone of proximal development
(¢) Social learning (d) Internalization
6. When a child is not able to conceptualise conservation of
mass, which logical operation is he not able to carry out?
(a) Equilibrium (b) Adaptation
(c) Reversibility (d) Inference
7. The idea that regards language as a uniquerly human
accomplishment, etched into the structure of the brain,
can be called as
(a) Behaviourist (b) Psychoanalytic
(c) Nativist (d) Constructivist
8. Which of the following is important for language
production in humans ?
(@) RightHemisphere (b) Parietal Lobe
(c) Wemicke'sarea  (d) Broca’s area
9. As per Erickson’s theory, in which stage is a child most
eager to learn and master skills valued in his culture ?
(@) Initiative versus guilt
(b) Industry versus inferiority
(c) Identity versus role confusion
(d) Autonomy versus shame and doubt
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10. Inaninclusive set-up

11.

12,

13.

14.

15.

16.

17.

tsl

(@) Each child accommodates himself/herself with the
school system '
(b) The children with special needs study in separate

classes
(¢) The school has flexible curriculum to accommodate

each child

(d Alithe children with special needs play with each other
only.

When a teacher gauges the previous knowledge of his

learners, he is involved in :

(a) Assessment of learning

(b) Assessment in learning

(c) Assessment as learning

(d) Assessment for learning

In order to study the influence of environment on

intelligence, which of the following method is not suitable ?

(a) Twin Studies (b) Psychological Studies

(c) Adoption Studies (d) Longitudinal Studies

For a teacher, the primary objective of assessment should

be

(a) Spotting error of students .

(b) Identifying gaps in the achievement of students and
helping in bridging these gaps

(¢) Measuring the achievement of students

(d) Assessing for the retention or promotion of a child.

Which of the following is not a part of Social learning

theory ?

(a) Imitation (b) Modelling

(c) Observation (d) Behavioural manifestation

Who among the following highlighted that learning is a

socially mediated process ?

(a) Erikson (b) Vygotsky

(¢) Kohlberg (d) Thorndike

A change in the mental processes that underlie all learning
and performance can be referred to as :

(a) Moral maturation  (b) Cognitive development
(¢) Social-emotional development
(d) Intellectual development

Prema seems to be overloaded with energy. She bounces
on her seat and frequently interrupts others. It is difficult
for her to focus and listen to her teachers. She may be
identified with

{a) Learning disability (b) ADHD

{¢) Severe multiple disabilities

(d) Hearing impairment N
The Person with Disability Act 1995 emphasizes

(a) Equal opportunity (b) Protection of rights

(¢) Full participation  (d) All of the above
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19. According to Piaget, at which of the following stage does
the child begin to think logically about the abstract
concepts ?

(a) Sensori-motor stage(d) Formal operational stage
(¢) Concrete operational stage
(d) Pre—operational stage
20. Which of the following is not a matter of debate in
developmentl psychology ?
(@) Mind-body (b) Nature—Nurture
(¢) One course of development — Many courses of
development
(d) Stage wise — No stage
21. Inwhich of the following stages children are able to engage
in ‘make-believe’ play ?
(a) Formal operational (b) Concrete operational
(c) Pre—operational (d) Sensori-motor
22. When a child gives in to the peer-pressure, then he may
be said to be
(a) Competing (b) Conforming
(c) Cooperating (d) Confirming
23. What do you mean by FAS ?
(a) Fatal Alcohol Symptom
(b) Foetal Alcohol Syndrome.
(c) Formal Alcohol Symptoms
(d) Famous Abnormal Symptoms.
24. Which of the following is not a way of formative
assessment ?
(a) Annual Examination () Assignments
(¢) Group work (d) Classroom discussions
25. .ccereerseeumeene. involves an ability to manage you own thinking
and problem solving.
(a) Metacognitive skills () Experiential intelligence
(c) Selfregulation (d) None of the above
26. A curricular modification programme developed in written
form to facilitate the educational experiences of each child
with special needs is called
(a) Idenfification procedure
(b) Peer interaction document
(¢) Individualized educational programme
(d) Self assessment portfolio
27. Whostrongly claimed that he can train an individual to be
anything he wanted, irrespective of his/her tendencies,
abilities, race, culture etc. ?
(@) Erickson (b) Watson
(c) Freud (d) Bandura

28. Identity vs. role confusion was the concept given by w.cececeeee.

and happens in ..ccusessse SIBZE
(a) Freud/latency stage (b) Erikson/Abolescent stage
{c) Kohiberg/childhood (d) Erikson/middle childhood.
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29. A child form a rhyme to lear®

3.

3.

the order of planets. Thisis
known as :

(a) Heuristic (5) Mnemonic

() Chunking (d) None of the abc:n:'e "
Bruner identified three major Stages of cognitive growti
Identify the correct order of stages

(a) Symbolic, loonic, Enactive

(b) Iconic, Symbolic, Enactive

(c) Enactive, Iconic, Symbolic

(d) Symbolic, Enactive, fconic
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English Language : (Question Number 61 to 90)

English Language : (Questions Number 61 to 90)

Passage 1 : Please read the passage carefully and answer
the questions 61 - 68

Emotions are not caused by situations. Emotions are
caused by our beliefs about situations, beliefs that colour
our perception and our understanding of events. Beliefs
cause emotions that trigger behaviour. If we feel angry
about a situation and react in anger, it is because we have
angry beliefs about it. If we feel compassionate, it is
because we have compassionate beliefs.

Situations in themselves do not produce feelings. It is our
perception of the situation that makes us feel good or bad.
Just as situations cannot make us happy or sad, another
person cannot make us feel happy or sad. If we seek greater
freedom in our lives, we need to be objective and rational
about the power of our beliefs versus the power of
situations. We control our emotions. When we live in
freedom, we choose the way we respond rather than let
our automatic negative reactions get the better of us.

Now you might ask, ‘Okay, but how do I do this ?’ how do
1 chose to respond when 1 am under pressure, when I have
been taught to fear or fight, when the situation seems *bad’
to me ? The “PQR” formula can help us live freely in

61.

stressful, anxious or depressing situation. We pause 1
question how we would like to respond rather than react
and live to regret our negative reaction.

Let me try to explain what I mean by react : You push; |
shove. Without thinking, I shove. This is my reaction. Itis
immediate and disconnected from my higher Self, the
constant “I”’, and the meaning of my life. My reaction is an
imprisoned effect. This is not freedom.

By applying the PQR formula, however, I can respond. !
pause (find myself in the situation), question (How does
this situation relate to the meaning of my life ? How do!
wish to respond given in a world of infinite possibilities ?)
and then respond (a freely chosen action — not a reaction)
Responding rather than reacting helps us live freely and it
greater harmony with our true identity in every situation. I
helps us grab hold of the freedom we seek in order to entef
into the river of divine life.

Greater freedom in our lives implies to

(@) Be able to judge a situation on its own merit
(6) React according to the need of the simaﬁon
(¢) Act because of fear or favour

(d) Be guided by our belief about the situation
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62. Whatprecipitates our behaviour towards a situation ?
(a) Emotions caused by our beliefs
() Emotions caused by a situation
(¢) Significance of the event
(d) Resulting impact of the situation
63. We should pause before asking a question because
(a) We can react easily to the demand of the situation
(b) We need not wait to relate our beliefs to the situation
(c) It helps us to recall our previous reactions
(d) Tt makes us perceive a situation without prejudice
64. PQR stands for
(a) Possibilities, Quest, Result
(b) Patience, Qualm, Reason
(c) Pause, Query, Reaction
(d) Pause, Question, Response
65. Among emotions, beliefs, situations and perceptions which

comes first ?
(a) Beliefs (5) Emotions
(c) Situations (d) Perceptions

66. Our reaction to a situation depends on, our

(a) Rational thinking () Feelings about the situations
(c) Beliefs about the situations
(d) Objective approach

67. By ‘our negative reactions’ the writer means
(a) Automatic reaction to a situation
(b) Compassionate reaction to a disruptive situation
(c) Reactions questioning our beliefs
(d) Freedom to choose our responses
68. What is meant by ‘situations in themselves do not produce
feelings® ?
(a) Feelings are independent of situations
(b) Our comprehension of a situation gives rise to our freedom
(c) Feelings lead to a situation
(d) Situations have no bearing on feelings.
Passage I1 : Please read the passage carefully and answer
the questions 69 — 75
Today there are enough hydrogen bombs of the greatest
destructive power to wipe out all life on our planet. Will we
make even larger bombs in future ? We can, if we want to,
but even for the most overwhelming military purposes we
do not need to. We have already reached some sort of
limit. How much more dangerous can the situation get ? At
the present time, we are very near the edge of death. Every
year or two in some major international crises — there is
serious probability of an ‘accident’ that would lead to
nuclear war. Dedicated men have worked hard and long in
these situations to avoid a nuclear incident, but we may
not continue to be so lucky. Next time it may be a nuclear
threat or 8 mad man or a mistaken junior officer or just

faulty equipment. It is foolish of us to boast of the decrease
in our death rate and increase in the length of individual
human lives in the 20" century, as long as this nuclear
danger is so uncontrolled. This situation cannot continue.
We cannot live very long walking on loose at the edge ofa
cliff. Either in ten, twenty or thirty years we fall over the
nuclear cliff, or else very soon, before that time runs out,
we have to arrive at an international understanding and
move back from the danger.

69. In the sentence “This situation cannot continue ........ »
which situation is referred to ?

(a) Production of hydrogen bombs

() Overwhelming military purposes

(¢) Living in apprehension of nuclear disaster
(d) Small chance of living to an old age

70. What alternative has been suggested to save mankind from
destruction ?

(a) Stop making hydrogen bombs

() Keeping the nuclear weapons in safe place

(c) Creating international understanding and goodwill
(d) Devising better ways to control nuclear weapons

71. By ‘dedicated men’ the writer is referring to persons who
are

(@) Worried about the nuclear proliferation
(b) People concerned with the fate of mankind
(c) Having great integrity(d) Endlessly hardworking

72. The passage says that as long as the nuclear danger is
uncontrolled

(a) We will have to depend on big nations for survival
(b) We will have to adopt some deterrent measures
(c) We would have to look for fault proof machines

(d) We have to be at the mercy of a terrorist or an insane
person

73. The writer warns us against making larger bombs,
because

(a) It will be a waste of money and effort

(b) We are already near complete annihilation
(c) We do not have the facility to store them
(d) We would not be able to use them.

74. In the phrase’ before that time runs out (last para) ‘that
time’ refers to the time

(a) Till we can expect to hold out
(b) When some international crisis may take place
(c) That has already passed
(d) When making of nuclear bomb may stop
75. The word ‘Probability’ in the second para means

(a) Liability (b) Expectation
(¢) Survey, Question, Recite, Read, Review
(d) Skim, Question, Recite, Read, Review
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6. The correct sequence for Error Analysis is
() Collecting samples of learner's language
(i) 1dentifying the errors :

(iif) Describing the errors

() Explaining the errors

(v) Evaluating/correcting the errors
(@) @ (i, i), (), (V)

(®) G, G, (W), (0 ()

(©) (@) (v). () G, Cid)

(@ (), i), (id), (iv), (V)

77. “The syllabus, the teaching and testing materials and the
classroom teaching are all planned carefully on the basis
of the frequency of counts of words and structures, using
the principles of selections, gradation and presentation
in a systematic manner.” This statement holds true for
(@) Structural Approach
(b) Grammar Translation Method
(¢) Audio-lingual Method(d) Bilingual Method

78. The SQ3R technique of Reading is
(a) Survey, Question, Read, Recite, Review
(b) Survey, Question, Review, Recite, Rea

79. In the teaching of English, a process of teaching language
through content area subject matter is known as

(a) Content Based English Language Teaching
(b) Task Based English Language Teaching
(c) Topic Based English Language Teaching
(@) English Language Teaching as a Second Language
80. An expression of the meaning of a word or phrase using
other words or phrases, often in an attempt to make the
meaning easier to understand is known as
(a) Synonyms (b) Paraphrase
(c) Anagram (d) Alliteration
81. Once there was a woman named Bunny
Whose smile was so happy and funny

People’s names she forgot,
But that worried her not,
She simply called all the them, “Honey” !
The above lines are an example of
(a) Tongue Twister (b) Limerick
(c) Ode (d) Eulogy

82. Which is false about Cloze tests ?

(a) Cloze tests are tests consisting of a portion of text with
certain words omitted.

() In a cloze test the participant is asked to complete the
paragraph

2014 (Paper ~1) S
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(¢) Close tests require the ability to upder;tand the contey,
and vocabulary in order to identify the correct w,
or type of words that belong to the deleted passage o
text. -
() :n aCloze test preferably every fifth, seventh or eigh,
word is omitted. .
83. When a student tries to Io'cate a specific piece of
information in a text sheis using
() Scanning process of reading
(b) Skimming process of reading
(¢) Intensive reading (d) Extensive reading
84. Crash ! Plop!Clunk !are example of
(a) Lexical sets (b) Onomatopoeia
(¢c) Paradoxes (d) Morphemes
85. The ability of persons to actively produce their own speech
and writing is called their
(@) Active Language Knowledge
(b) Passive Language Knowledge
(c) Language Acquisition
(d) Language Learning
86. Mental pictures or impressions created by, or
accompanying words or sentences is known as
(a) Parts of Speech (b) Imagery
(c) Figures of Speech  (d) Analogies
87. Alanguage programme designed to prepare international
students or other students needing language instruction
to take regular academic courses at a university is known
as
(a) Intensive Language Programme
(b) Bilingual Education Programme
(c) Reading Programme
(d) Intensive Reading Programme
88. A method of foreign or second language teaching which
(i) emphasizes the teaching of speaking and listening
before reading and writing (i) uses dialogues and drill
(h discourages use of the mother tongue in the classroon

and (iv) often makes use of contrastive analysis is know?
as

(a) Silent Way (b) Suggestopedia
(¢) Task Based Learning (d) Audiolingual Method

A word or phrase which has been taken fi om one language
and used in another language is known as

(a) Inter—language (b) Bilingual
(c) Borrowing
(d) Second Language Acquisition

90. A word or expression that has lost its originality of
effectiveness because it has been used too often is known 55

ocial Studies/

89

.

(a) Creole (b) Pidgin
(¢) Cliche Metaph
(c) Likelihood :?) Pmr
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91, Who applied the Doctrine of Lapse to the Indian states ?
@ Lord Hastings (6) Lord Dalhousie
© Lord Canning (d) Lord Wellesley

92. Which of the Greek ambassador became a Vaishnavite
and erected the Garuda Pillar at Beshnagar (Vidisha) ?
@ Heliodourus (b) Daimachos

© Megasthnese (d) Dionysius

93, Which one of these is a work on Mathematics ?

(b) Brihatsamhita

(d) Panchsidhantika

94, Whichof the following has been wrongly matched ?

(a) Aryabhatiya

(©) Indica

(a) Periyar Sanctuary — Kerala

(b) Shivpuri National Park - Madhya Pradesh

() Dachigan Sanctuary - Jammu and Kashmir
(d) Ranthambore Tiger Project - Gujarat

95. Which among the following Port is not at East Coast ?
(a) Vishakhapatnam

(c) Paradeep

(b) Tuticorin
(d) Nahava Shova
96. A meteor is .

(a) Arapidly moving star

(b) A piece of matter which has entered the earth’s
atmosphere from outer space

() A part of constellation
(4) A comet without a tail
97. ‘Saddle peak’ the highest peak i.s situated in—
(@) Andaman and Nicobar Island
(b) Nagaland (¢) Tamil Nadu
(d) Gujarat
98. The most urbanized state in Indiais :
(@) Gujarat (b) Maharashtra
(¢) Tamil Nadu (d) West Bengal

9. To whom does the president of India send his/her
resignation if he wants to quit his/her office ?

(@) The Prime Minister (b) The Vice-President
(¢) The Chief Justice of India
() The Speaker

91. ¥3st fmiAst few Bun S a1t f fan 3 s ataT 7
(a) BET IRfETmE (b)) HIFSHIAT S
(c) ez afdard (d) B8 BB S

92. ¥ fafirnt ", afta ©r faoar awgs AusT v fomr vid
I1g® &y € RewET dEsa (feferr) T st 7

(a) HfBGSon (b) Sfemran
(c) WeTREH (d) SfeCaNmm
93, 5 [femit § fageT aaw afeg '3 mofag 3 ?
(a) nirdtorg P (b) fegaffisr
(c) feshtar (d) Usfrataar
94. Iz fafemit °F, fagar ofe Rat &at d ?
(a) Ut 3y | — qEsT
¢)freuRtdmssues  — HOyewR
(c) T9EIG oY — HY w3 Al

(d) TEEHEI TG YHde — THAS
95. ¥= fafemit *F, fagat fegana, yadt-fesera a4t 9 ?

(a) femmyruzaH (b) gA3TE
() Yty (d) ST HST
96. @marfuz §= d:
(a) 37 I &% Fger Ifemr 3T
(b) u=TeE ¥ QU ga T, AT umE T et € IR
feg y=raaerJ|

(c) FT-IEE T fmr
(d) @7 yem 37, fam & ye &t 9T
97. A¥ ¥ @9t St ‘Aew Ui’ Rfag 3 :

(a) W i3 e Sty g
(b)) ITBT T (c) IwaT S
(I3

98, 35393 v ¥ T famrer afadfigg Iw Y
(a) T3 (b) HO'THET
(c) ThEEg (d) Tt &ars

99. Fag 33T T IHLIUT MR FEH T AT ITTIPET IR I
@ ninye mRStET fan AT :
(@) @E I E (b) Qu-TEeauI g
() IS FAE-QU TR E
() it g
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e
ding a personora
100. The writ issued by the court comman :
public authority to do or forbear to do something in the
nature of public duty is known as
(a) Mandamus (b) Quo Warranto
(c) Certiorari (d) Habeas Corpus
101. Who decides whether a bill is a money billornot ?
(a) President (b) Prime Minister
(c) Speaker

(d) Minister of Parliamentary Affairs

102. Right to Education has been placed in the Indian
Constitution under -

(a) 86 AmendmentAct (b) 81* Amendment Act
(¢) 73"AmendmentAct (d) 85" AmendmentAct

103. Which oné of the following Articles of the Indian
Constitution deal with citizenship of India ?

(a) Atticles333t0337 (b) Articles 171020

; (©) Articles5to11  (d) Articles 1 to4
104. Right to Form Association is a—

(b) Legal Right

(d) Natural Right

(a) CivilRight

(c) Political Right
105. Plantation argiculture is Iargély practised in the

(a) Semi arid region (b) Temporate region
(c) Tropical region (d) Equatorial region

106. Which of the following is not associated with oilfields in

India ?
(a) Bombay high (b) Digboi
(c) Ankaleshwar (d) Barauni

107. Formation wise, which of the following types of rocks is
the most ancient ?

(a) Igneous () Metamorphic
(c) Plutonic (d) Sedimentary
108. The colour of a star is an indication of its
(@) Distance from the sun
(4) Luminosity

() Temperature

(c) Distance from the earth

——
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I?o?ca:z ;a‘l'wﬁz.fm g fait feniaat At Ba-mfaast §

o =, falft &S f!awﬂ*eng
bk L
()] am-<de

(a) A3HA
(¢) Faf@ardt (d) It TR

101. iﬂm,gmm&#aaf,fzn?imﬂzma?
(a) FHEIUS (b) yus VS
(c) AT (d) Foret femit B HIdt
102, “fiffeonir & wifaara’ § sraat Afeus fee i famir 3
(a) g6 Aunae @ 3faa
(b) 813 Fuiae € 3faa
(c) 73<T Aunae € 303
(d) 85T Fuwae € 3faa

103. I fBfmt *F, I35t Afeas o fagar ngee, I93 &
safgas &® FEfaz 3 7

(a)mMEee 3333 337 (b) MEe€ 17320

(mMaeesd 11 (d) MEee 134
104. BARES g Qe o nfaaa :
(a) fA=s mifgara & (b) T garmigaad

() TFRHITHUTT T (d) Feastmfaaad
105. Uel-8t e Re S farer yEss Y :
(meuwafesa’s (b)) dvldefema’s

OTNEEET (4 grfemd g

106. 35 fafemit '3 fagar g3 & 35 Aget v Rifag 53T :
(o) THE TrEt (b) fsaEet
(c) "eBAZT (d) Fogat

107. 9239 & nigAa, I fafit °F, tfag ot fagat z
frerysrasd ? = FRFE;

(a) fearatrm (b) Peviafex
(c) ugefsa - (d) A=t
108, Ffnit erdeT g ager Y@t/ :
@RI ghE ) yEraIT§
OWAIGNE () IwwE




-~y ar

——  PSTET Previous Paper Aug. 20
-109. Consider the following statement regarding asteroids

() Asteroids are rocky debris of varying sizes orbitin.
the sun. &

(#) Most of the asteroids are small but some have dj
as large as 1000 km. et

(ii7) The orbit of asteroids lies between the orbits of Jupiter
and Saturn.
Out of these statements.
(a) Allarecorrect (b) (ii) and (iii) are correct
(c) () and (i) are correct
(d) () and (iii) are correct g
110. Which of the following factors govern the atmospheriﬂc
temperature of a place ?
(a) Its latitudinal distance from the equator
(b) Its elevation from the sea level
(¢c) Prevailing winds and influence of ocean currents, if any
(@ All of the above
111. The Panama Canal connects
(a) Pacific ocean — Atlantic Ocean
(b) Red Sea— Mediterranean Sea
(c) Black Sea—Mediterranean Sea
(@) Indian Ocean — Atlantic ocean
112. Jainism and Buddhism were similar in all these aspects
EXCEPT-
(@) Both were agnostic and rejected the Vedic thoughts
(6) Both had equal faith in Ahimsa
(c) Both accepted followers without any class distractions
{d) Bothbelieved in the Doctrine of Karma
113. The present year 2014 is counted from the date generally
assigned to the —
(@) Birth of Jesus Christ (b) Death of Jesus Christ
(¢) Crucification of Jesus Christ
(d) None of the above
114. The stone boulders to mark the burial sites are known as—
(@) Microliths (b) Megaliths
(¢) Mesolithic (d) Neolithic
115. Kitab al-Hind an important source for historians was
written by —
(@) AmirKhusrau (b) Al-Baruni
(¢) ZiyauddinBami  (d) Firdausi
116. ‘Right to Life’ is a fundamental right under
(a) Article42 (b) Article 76
(c) Article 1 (d) Article21
117. When can the President’s Rule be imposed in a state ?
(a) If no State government can be formed
(6) Ifthe ruling party has lost majority and no other party
commands a majority to form a government
(c) Ifthe State machinery fails to function
(d) All ofthe above
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109. 35 fod amat § gor-gu o fewrg a3 : .
() 3T-gu @4t Uwgt @ fdw wrarg e weEr I & gow

A8 WeT |

(i) frimarae grav-gu 82 39 o udg fai-fai er famm
1ooofa@wnaa§'§:‘téaf§aral B

(fii) 33v-gy v grfa-um, gfarust w3 wat @ ayfa-
fegaa gerd L

fegt A3 qust g

(a) e Rt TS () (iy™3 (iif) AT IS

@ ()M (NARTE (@) ()™ (i) AR TS

110. I= fafipyt *8, fait e @
aa%aa?m TS IUNE §, faad ¥
(a) F-¥a JyT 3 npamtsit et
(b)) medt 35 I ER(EH e Qe
(c) HgeT 2 M3 AfTdt FaTar ouH, T AT I D

(o) Qusaz Arg Tt

111, Y& sEt faetd :
(a) A3 HTAI@ — WMAHIAIE &
(b) &% AYEd — gHUAIR™ §
(c) IBTAEE — FHOASR™ &
(d) fde vatRTaTg — WUHIAIR §

112. #& 994 3 ¥ Tan I3 fgRdlde 3 AN 05, U9g
(a) €2 HITTE A6 m3 Qo fea-FR FoT aae s |
(b) €t T wifdrr Y3t govea femew st
(c) €T+ faar i st izget € igaret & Rdftara dftar|
(d) €< aar € fauig feg ferem we a5

113. HgeT &9 2014, fAn Sty 3 fafenr aterd, Qrgnmi 39
'3 fifgg slgratery:

@ETSASHET (b)) WA IT]WITE
(c) e e ABe QT s
(d) QuIaa " Tt 5T
114. aza?te‘ta’r 3, femat @7 2 o, ¥ Iy tfaat § faar
Aerd:
(a) G ToEn (b) Warfzan
(c) Wrfsaa (d) folfeaa
115. fefsomarst et RIS Mot e owt fasw, niss-
e & fofeonr vt :
(a) T YAT & (b) mB-agat &
(¢ Qs waatd  (d) feaditd

116. ‘Fites e wfaaa’ fex ifsa mifagaa 3 :

(a)Eee 42307 (b)) maew 16 € 30z
(mMeee 13303 (d MEee21¥3fa3
117, fai o feu THZIUS G 3@ B disT AT Raer Y 7

(a) 7 &€ TTH-RIAT &7 HSTE AT RS |

(b) 7 TN EB U IS P BT IS faR T e
&% Raad g9 wet HgHI &dT geT

(c) 7S I T IIF, TIH TIa feT nREw® § "Ater J|
(@) Quigg e Tt
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128.

Which of the following do not fall in the Union List ?

(a) Oilfields and mineral resources _

(b) Regulation and development of interstate rivers

(¢) Organization of the high courts

(d) Land, collection of rents

According to the Indian Constitution, numbers of duties
entrusted to the Prime Minister are—

(@) Two (b) Three

(c) Four (@) Five

Privilege Motion is introduced by

(a) Ruling Party () Opposition Party

(c) Botha’& b’ (d) None of the above

Which two officials can participate in the proceedings of
legislature but they do not have the right to vote ?

() Solicitor General (i) Attorny General

(iii) Advocate General (iv) Law Secretary

(@) (i) & (iii) () (i) & (iv)

© (D&(w) @ ()& (@)

An Ashokan inscription found in Kandhar was written in
two different scripts. Which were these ?

(a) Sanskrit—Kannada (b) Greek—Amaic

(¢) Persian — Kharosthi (d) Prakrit— Brahmi

The ex—officio chairman of the Rajya Sabha is :

(a) PresidentofIndia (b) Vice-President of India

(c) Prime Minister (d) Speaker

The residual power under the constitution is vested in the
(@) Union legislature  (b) State legislature

(c¢) State council

(@) Both Union and State legislatures

Who among the following permanent members of United
Nationl Organization have exercised the power of Veto
the highest number of times ?

(a) USA (b) USSR/Russia
(c¢) Britain (d) France
Poona Pact (1932) was ..........eerasnses

(a) Supportive of the Ramsay MacDonald’s communal
award.

(6) An agreement reached between Mahatma Gandhi and
Dr. Ambedkar.

(c) Signingofjoint action plan by the Muslim League and
the Congress against the British.

(d) None of the above.

Who among these did not come to India as a Buddhist

prilgrim ?

(a) Ibn-Batuta (b) FaXian

() Xuan Zang (d) 1Qing

Which of these Sultans first formulated a ‘Famine Code’

to provide relief to the famine affected people ?

(¢) Balban (b) Alauddin Khalji

{c) Firoz Tughlagq (d) Muhammad bin Tughlaq
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118. fegt ¥,

119.

120.

121.

(a) 3B-4FT I UfSH AUS
(b) vZa-ait semt e fawag wd fea
(c) §9-E83 T AAI6S

() its w3 foe § feseragsT

ﬂz@mm,@mﬁsﬁghﬁmﬁi@w

&1

(@@ (ORES]

() 99 (d) UF

feRE nifgare ev yrI d& IF gIeTd :

(@) TAHUTA (b) feadturaet

©) (a) M3 (b)) T= (d) Quda3 'S It &t

faad & mfaadit &, feaane St et § ffrdz oy
- mfgarg Yug i3 &= eruifgag &9t ?

() AEifiea A5ds (i) MTIBT HEIH

(i) EEAe AT (iv) TESTRAIT

(a) (i) M3 (iii) (b) (ii))™3 (iv)

(©) (i) "3 (iv) (@) (7)™ (i)

122.

123.

124.

125.

126.

127.

128.

TH BT 5% Fifag duvg T 33 famay, & S-Sy fmiyt
feefstaR AsIQ@afaaans ?

(a) FRfgI-853 (b) 3 - migHe

(c) =TaRt-gHaT (@) yigs-goit

I AET @ yT-gaet, iUt Jurd :

(@) FII T IHSIUS (b)) FII T Qu-gHEIUT
(c) yursy3at (a) mitag

ffews 3fag mefiome ma=t, fsfag 3 -
(ufersizs’'s (b)) Tafersiss’s
(o) TAufame g

(@) P w3 I feusiss =t 'g

35 fafemit 'S, Agerg o farss 2, faod nemdt ee 3, &
Hadt &t 293 R T fwrer evg aigt ?

(@) F"R 2, (b) G A AR /g
(QR:CEUI L (@) 9w
YSTANEST(1932) /Y ..............
(a)wﬁﬂaémékag%nﬂémm’a

(b) HITIT It w3 . WSz ag fegarg fea fut @

(c) A M3 yAfEW Blar @ gagratyr @ fiuse A9
TTI<TE GHET T 93N

(d) Qudaz 'Fadt &t

35 fefint °F, faaar g, it Staw graat et 9793 591

nifemr ?

(o) fead agar (b) faas

(c) faGamiar (d) feafiar

35 fafit T, faaa goravs 1t fam v 3 ufast ‘i o™

W 575 IAS Bt § 97 wGuQ= setwafonr it ?

(a) T=95 (b) me Qs fus+Ht

(c) fedm garsa (d) yove fexs gasa
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129. Which of these were not depicted in the Indo-Islamic
architecture because of being considered as Un-Islamic ?
(a) Floral deisgns (b) Lotus and Kalash
(c) Human and animal figures
(d) Bellmotifs

130. According to the Archaeologists the earliest period was —
(a) Chalcolithic (b) Mesolithic
(¢) Paleolithic (d) Neolithic

131. In the Vedic literature Dharma is used in the sense of -
(@) Duty towards one’s jafi
(b) Observance of rituals
(¢) Religion to be followed
(d) Rules that govern individual’s action in society

132. Inthe Rigveda the most prominently mentioned God is -
(a) Brahma (b) Vishnu
(¢) Indra (d) Pashupati

133. Which of these temples is a proof that ancient Indian
colonial and cultural activities extended beyond India ?
(a) Angkor—Vat Temple :
(b) Kailash Temple
(¢) Brihadiswara Temple (d) Gangaikanda Temple

134. Theland revenue system that operated during the Mughal

times was
(a) Batai (b) Jarib
(c) Zabti (d) Kankut

135. Akbar’s principle of ‘universal peace’ was called

(a) Sulh-i-kul (b) Din-i-llahi
(c) Ibadat (d) None of these
136. The British East India Company’s first ‘Presidency’ in
India was
(@) Madras (b) Hugli
{c) Surat (d) Masulipatan
137. Whatis the difference between Indian Standard Time and
Greenwich Standard Time ?
(a) —4 hrs and 30 minutes
() -Shrs (¢) + 5 hrs and 30 minutes

(@) +6 hrsand 30 minutes
138. The only star in the solar system is the
(a) Moon (b) Comet
(¢) Jupiter (d) Sun
139. The greatest problem that India faced shortly after
independence was
(@) Acute economic stagnation and poverty
(b) Food crisis
(c) Large scale arrival of refugees from Pakistan
(@ All of the above
140, Which one of the following sets of conditions is necessary
for good cultivation of wheat ?
(@) Moderate temperature and moderate rainfall
(b) High temperature and heavy rainfall
(¢) Hightemperature and moderate rainfall
(d) Low temperature and low rainfall.

129. 3% fafipt F, faw § Se-fermfim 13 ae a9s, fEs-
fersnit 325 fsavre aur feg eamtenr sdt famr ?

(o) SBewsufamts (b)) BEHITBHG
() &I I Arawer @ fi3at §
() i s §
130. yaa3= fefarrraing nigama mife aw At :
(@) IHIUE'S (b) HauUHES
(c) WauUm's (d) B=_UWS

131. ?ﬂf:.;a;ﬂ;haha‘m’me’rea?.faa%m—iu’aw
(o) forat Az yFH adge ==
(b) IH-faeat S umeT =7
(c) ToH T UTSE 36 At
(d) ™ feg foradiarg araeret qas € aH ax
132, foorRe wfeRm 39 '3 QBfz Ju
OF: (b) femg
() feem (d) vgut
133, fegt *F, faaar iea fen @ yie 3 fa yits 393 et
gRFieTet M3 Riswrargs aTgifedtit, 3793 3 aaa 3 awht

T RS :
(@) MRTEI-TI HET (b) IBHHTT
(c) fgoem=a Hed (d) TaTEET HEd
134. YIT® a SIS TWIS HETHT yerst aor@ et it :
(a) gCTET (b) wT
(c) wESt (d) T&I3
135. naeg & ‘R fenmit nins’ @ malte § faaraer &
(a) FBT-E-3H (b) Se-g-femt
(c) feareg (d) feg™ 'S Tt Bt

136. :T'aa 'Y gIIaMT Tt eine féatr quat e ufowr wat-yig
(a) HeTH (b) ammT
(c) 193 (d) HESIUSS
137. fEatws FE99% T8 W2 TEIs &9 R399 e fewae
waefaard ?
(@)-4uemI 30fe  (b) -5ure
() +5WmI 30fe (a) +6urRk 30fe
138. Re-"ew erfed-feqawryd:
() & (b ag
(c) gfamuht (d) FoH
139. 393 & Wrarel T 393 v, fraat &t A e raweT
e Qurt:
(a) ST HIEF YT WS T
(b) IV Fae
(c)mhnsmi‘éiﬁua%m’w*?m@w
(d) Quiag R ot ,
140. 35 fefimt T, fagant gt @ e, aea St el awg
ser gty ?
(a) MW IUNTE M HAS HIT
(6) ¥T IUHTE ™I T HIT S HIT
(c) ¥ IWEWI MRS HIT
(d) e Ius w3 e Wi
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' in social sciences is the base 141. a-afnr. faﬂﬂvﬂ'ﬂ"iﬁ"”“ waa

141. :MCII reasoning process @ AN il
. . (b)
Statistical method  (b) Historical method fefggrd piiha ELIOELE
g:)) C:tnlrparatlve method(d) Scientific method @ hfa‘;:;aw Fefaa™ ug@E Rit, 35-fofiont %
142. Which amongst the following is the best method to arouse 142, yuis bl ter a5 €t Aw T o
curiosity in the students while teaching them Ancient W& > AfapAT T
Indian History ? faraett b
(@) Nzwspaper clippings(b) Pictures (@ W?’Tgw :d; aﬂéhlm
(c) Visitto a Museum a3 g")%’ﬂﬂ'ﬁ“-'a %@Ha' 'Eﬂﬁ;'mﬁa Ezwsgm
Talk b n . TITI6 TITISA-YFHE ;
143. &rzlu:::g;z?:ﬁmnmenml pollution on our nm;af?aafs&mw Yifegt T lavar yms R 3 4
avironment, the teacher asks the following questions. gastd ! A _
:Vhichl:)ne of these questions is the most appropriate one ? (a) YgRS =4 ;':[g W3 yaar :1C eaa:;al .
(a) Describe the source and types of pollution (b) T3S ’?a‘, YgHE HIH AI& faa3 JeH ¥ 73
dopted to eliminate I5
() What measures should be adopted to elimina 5 ;-r;ﬂé A4 o5 wmmwm

pollution from the environment ?

(¢) Suggest some concrete ways by which you will create nig-gmite 'g TTI<I6a-YgHE T HId Hfé;rra@agi

awareness in your neighborhood about the dangers of Jerda Ad | - .
environmental pollution (@) Trgregsa-ygne UeT 396 T8 USTeE' €t Bt fany
(d) Make a list of the object that cause environmental a1
pollution. 144, A g Yfeg Afswraraa Baa=t fidt, g 9 i a
144. During a group discussion in the class with regard to W@Wma—nir,margufeasuﬁm T Juely
cultural differences prevailing in the society, the class 5 ster 3 fAw 9 AR g3bet M3 UY-UTg @ gu v
suddenly got into a heated discussion showing social bias e 31 mfadt yrfast '8 siftmius 92 @ 573 3t !
and prejudice. In this situation, you as a teacher would (a) THES SETHY qddr fa maa3ar feg 8a3a" g I
(@) start giving lecture that unity in diversity is a distinct feyzsa= I
. il:,aractenstlc of our society (b) feformragtut 3— Jarest feQarfa Qo farad fegm
arm the students not to make any derogatory remarks MUHSHET FPuUstF sTaas |
©) th::l:l:ea:i{t?:::sion immediately © ffm *I'H!ﬂ; I"‘ é@ﬂnﬂ'ﬁ? o
(d) Advise the students to discuss the issues @ R Wﬁﬁgﬂa@?ﬁmgg
dispassionately without hurting the sensitivity of any WAE 3 999 595 | = =
one \
145. A map’s legend helps us to : 145, FR S H?SHEE’ ?3@' =
(@) Read the map’s symbols correctly (a) &aIH ?‘1{3"13’:?5 SIIUFS ¥
(8) Understand the purpose of the map (b)&TH ?39’5?55*{33 i
(¢) Calculate the real distance shown on the map () iﬁﬁ ?ﬁgﬂmmmi‘;m )
(d) Distinguish between the two tropics (d) ¥ QrT-Ttidtn fegara Sufew@e <t
146. Given the learning objectives that the teacher hassetfor  146- FHA-efamra & urs wet, mtmrfuar &8 fsguas fifie @
a lesson in social science, she chooses ‘discussion method’ w?mr € ‘Sour-feal’ § re I mifoy fitue feat 15
to be the best suited approach. How would she structure 3, R @t Us @t gurg g ‘gaer er s 89
the ‘discussion’ in the beginning of the lesson ? fa@ F9att ?
(a) Ask the students to write their reactions. (a) =fenmradnt & Gt & yita fave set nrit
(5) Follow the rules of the discussion strictly (b) feur3-Teted & 3wt &t useT Myt av8 adat |
(c) Remind the students about the rules for respecting (c) fefenradtnt §, fear gﬁéfqnzﬁaé'm@?@
each other’s point of view I T aaeeat|
(@) Provide the students a list of questions (d) fefenmaebit § yust &t fea et yers adan
147. The most cherished goal of social science class shouldbe ~ 147. gﬂ;—fefmme?mwny?& fowrs Aer Jer e
that 3
(@) Students are able to learn the academic subject matter (@) Mnﬁ@ﬁﬁhﬁ-mﬁ' firmaz !
(b) A positive climate prevails in the classroom (6) M3 feg R Wi 32
(¢) It accomplishes the learning of subject matter in a (c) feR-=wg @t fitfonr, Rararave, mra-g<aad
Was fegfedtara)

positive social-emotional climate
(d) The students behave in the classroom in a disciplined
and positive manner

() fefenradt 73 °g wigEwg w3 Rargrava €91 &
e Q)
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148. The most accurate definition of social science is that

(@) Itis knowledge obtained through a methodical study
of the characteristics of the human beings in all their
various aspects

() 1t is knowledge acquired through the study of
psychology, sociology, anthropology, economics and
political science

(¢) Itisa conceptual field aiming to develop the society

(d) None of these

149. The best means to know whether students have rightly

150.

—ANSWERS / 8*391er r

understood the lesson on rights and duties of a citizen is

when the students are able to

(a) Classify the rights and duties

(b) Compare between the rights and duties

(c) Signify the importance of duties over rights

(d) To give concrete examples how these and duties can
be correctly put into practice.

On a project on ‘water resources’ the teacher should

(a) Make groups of students with regard to various
sources of water and ask them to collect relevant
material

(b) Give them lecture on the use of water resources

(¢) Himself/herself provide material for discussion and
further work

(d) Tell them about the availability of water resources in
our country.

148.

149,

150.

mHr-fefars et re 3 rata ufasar '

(a) fET Wt et @, MY Sy-2y ufogmt @, feerfag
mfuﬁxéaram?ma‘l?fmwfamm

(b) Wafefarns, RTR-"IRIT, Wae-fefamrs, »ae-
ARSI HI THGIS- fefamsres & nifpRes gt I ST
farur forrrs 3

(c)gfmwﬁmﬂ&saa,hnwmm?feawaw

|

(d) Qudag § aet &t

fefenraeimt & vaifaat & nifgarat w3 et ed, us §

Gait gt A femr 3 (g fea wres set A 3 Qfes dur, QT

e O 7 fefemrast miag &= :

(a) mifaarat M3 qgd<t or TgIads 996 9

(b) mifgarat w3 aad<t fesaa B a5 ‘v

(c) vifgarat i3 gedet S T oo aes g

(d) fegt nifgarat w3 gad<t § At €ar s fas' w93 feu
fenrfenr Av Ager 3, @ @ &7 €urode Ur 95 91

‘Ut fmas’ @ [Rae 3 mferuat §edter Y fa §a:

(a) Ut & Sy-Jy AT @ viara '3, fefenradnt @ myo
¥ee w3 Gt § yhfaa Aiaret fedat ags et v

(b) UT-FATUst €t 293 B IHS B2

(c) fegrg-gau™ w3 wiramit arawt BE HruS -y RHaTET
HdEMT daeE |

(a) fefenradtt § 3 yea feg, Quaia vt imust
gd OH |
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